Estrichberechnung Arbeitsblatt @
1, Flachen und Umfange
Limmer 1 y A
A = 457 * 292 + 0,97 * 0,16 = 13,50m°
U= (457 +2,92) * 2 +
0 % 0,25 = 15,48m
/immer 2
A = 427 * 282 - 195 * 0,85 -
0,87 * 036 + 0,97 * 0,16 = 10,82m°
U=(427 + 9282 + 036) * 2 +
0,25 * 2 = 15,40m
/immer 3
A =333 %352 - 115 * 0,40 +
1,00 * 332 / 2 + 227 * 0,16 = 13,28m°
U=433+332 +333+2 %0925+
41002 + 3322 = 14,95n

\/orrdum
A = 1,205 * 1,70 + 2,17 * 112 +
0,055 * 057 + 1,07 * 0,5 +
3% 0,80 * 0,3 = 5,02m
U =1(2,82 + 2,205 + 0,25) * 2 +
6 * 0,25 -3 * 0,80 = 9,69m
55,52m 42,69m°
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